1 If you want to compare the price of wheat over a period, which index will

you use ?
(A) Volume Index (B) Aggregate Index
(C) Both (A) and (B) (D) Price Index
M AN T & q7d B 99 H@ A gaTl T Aed § A, DA gawm w0 G /9 7
(A) o gEHD (B) @@ gusis
(€) (A) 7 (B) 3 (D) T qeHE
2 is outgoing e-mail server.
(A) POP (B) POP3
(C) SMTP (D) PPP
TN §-39 AT T
(A) POP (B) POP3
(C) SMTP (D) PPP
wra
3  The fourth momefit'dbont {theCni@an. is ided fo insasufel
(A) Mean : SOV
(C) Skewness S d<... E}aﬁlt%ﬁ
wrem & A9 UREa e HEEar B OMOED W W oHEAl E
(A) wre (B) ferwm
(C) formram (D) gyl

4 Infant Mortality Rate per 1000 population in Rajasthan as per Economic Review
2017-18, in the year 2016 has been

(A) 41 (B) 34
(C) 30 (D) 20
amiie Tl 2017-18 & s 1y goger, iy o o @, 2016 & et <@
(A) 41 | (B) 34
(C) 30 (D) 20

37] wha 3 [P.TO.



Any statistical measure computed from population data is known as

(A) Statistic (B) Parameter

(C) Standard error (D) Sampling frame
¥ 3 H Fife® "M, T 999 W F| e A %, 99 9w
wEeT ¥ |

(A) ufasi= (B) uraw

(C) wwmer fawm (D) wiraas i

Which MS Word feature enables to enlarge a letter at the beginning of a text block
to two or more lines ?

(A) Word art (B) Drop cap
(C) Foot-notes (D) Tab stop
qm%wma%gaama&a‘rmwmmﬁ TH W27 3 T B9 & WU

U g v o HET S9gE 6
(A) =€ ae lH} =T .59

(€) P2 = EdUcation Postailk
The full form of NITI Aayog is

(A) National Institution for Technical India
(B) National Institution for Transforming India
(C) Novel Institution for Transforming India
(D) Novel Institution for Talent India

Hify emamr @ owfia ww %

(A) TS WG dere Fe

(B) U™ Wia uiterE e

(C) @ wra uftgds wen

(D) Taq WRa Wi g

37] e [PTO.




8 How many perfect squares numbers are there between 120 and 300 ?

(A) 6 ‘ (B) 7
©) 8 (D) 9
120 &% 300 % @ p@ frEH O @ e ¥ 7
(A) 6 (B) 7
@) 8 D) 9

9  Mother wants to divide ¥ 2492 between her daughters Sunanda and Girija in the
ratio of their ages. If ages of Girija is 16 years and age of Sunanda is 12 years,
then Sunanda will get

(A) T 1424 (B) T 978

(C) T 1068 (D) T 1384

|1, dfedr g oK fiften § % 2492, o oy % orua ® sfew wwedr ¥ | gfy fifn
W Ag 16 a9 qar gEr H ong 12 q¥f ¥, 99 gEr urg son -

(A) T 1424 (B) T 978

(C) T 1068 (D) X 1384

10 District in Rajasthan, which has il
name itself is - S

arter’s name different from the district’s

(A) Rajsamand T1CYP-S (39 P g0 vt

(C) Pali Education)Pcrtalii

o ¥ e fren R - e R T 3 = § -
(A) TEES (B) wamTe

(€) (D) ¥

11 The monopolistic firm will be in equilibrium where
(A) Price = Marginal cost
(B) Marginal revenue = Marginal cost
(C) MR = MC = Price
(D) Marginal cost = Total cost
THAUES B Tged ® gl &, 99
(A) I/ = @ AT
(B) @mr am™ = €M @ra
(C) dF=1 oM = dWTa @Fa = Hed
(D) 991 @' = FA WP

37] whu 5 [P.T.O.



12 test is satisfied both by Fisher's and Kelly's formula to calculate index

numbers.
(A) Factor reversal (B) Factor
(C) Reversal (D) Reversal factor
wam @i Fisher's 3t Kelly's g3 fe® goee §@ @@ & & dge
HT T |
(A) d= Sewraal (B) =
(C) Soprgedr (D) Sspregan o«

13 What is the theme of world Water Day 2018 ?

(A) Waste Water (B) Water and Jobs
(C) Nature for Water (D) Water and Sustainable Development
2018 & w1 feaw & 9w = %7
(A) ¥ TRX (B) @R Us Wi
(C) A"WT WL Y (D) =TT U gRAUsY 3quHe
“wa
14 "A sampling is-$ai@iolbe gocddia@lpossiblelsampl ¢ haFiaglequal chance to select.”
It was said by : Education]Portall
(A) Simpson T aoT... Ber@oxgmmand Cowden
(C) Karl Pearson (D) Fisher

‘U RTEEE STEST 99 HE WO W9 YRE weiied gfieet ¥ g 99§ swew 5ue
B e wE Ao

(A) o= (B) ®iaqe wd Hasw
(C) »w fyEwms (D) fmsre

15 Van Vihar sanctuary is in
(A) Bhartpur (B) Dholpur

(C) Kota _ (D) Sawai Madhopur
e s

(A) EgT (B) eyt

©) == (D) waré meig

37] wfm 6 [PT.O.
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17

18

19

Which tool helps better for what if analysis in MS Excel ?

(A) Track Change (B) Formula Auditing

(C) Goal Seek (D) Pivot Table

TH TR UEEA ¥ 97 3% AN % U erer W deaY WeE &Y gear § 7
(A) 3= o= (B) wifwn aitsfeT

(C) 7w @ (D) urgEe & W

Infant mortality rate (IMR) per 1000 live birth in 2016 in Rajasthan is

(A) 41 (B) 34
(C) 36 (D) 44
e #2016 F Rty g« (IMR) Wiy &ox sifam wif@ @ %
(A) 41 (B) 34
(C) 36 (D) 44

The oligopoly model in which themum assumes that his competitor's output
is fixed and hg-ylecides how much to pmduu. is

(A) Cournot model Ed Eﬂ!B)[}t{)ﬁcrm model

(C) Bertrand model T ST, wwnmu
aw&wﬁ#hahaﬁm@mwt%w%uﬁﬁmm%%aw%
qg &I ¢ % feaw S fear o, 9% Wiew ®

(A) FAt wrEw (B) dtf Hisd
(C) wgle =few (D) Rwwat Hied

Where a blind folded selection has been made from the number of slips based on
the requirements, it is called as method of random sampling.

(A) Sequential list (B) Grid system

(C) Random number (D) Lottery

W of@ §= B> Sgd O ud ¥ ¥ omasged & HgER 99 e o ¥, 9@ @
fafy we1 wmr &

(A) woes o (B) fire woreh

(C) ¥ wem Ly e

37] wu 7 [P.TO.
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22

23

The known variable in a regression equation is called as variable.
(A) Independent (B) Dependent

(C) Attributes (D) Active

YA ST B A A @ o HEd E |

(A) @ - (B e

(©) Tm (D)

If the price level in current year increases by 20% compared to base vear, then

purchasing power of rupee will be
(A) 83 paise (B) 120 paise
(C) 80 paise (D) 20 paise

A qe WX R ¥ @ ga ¥, g 9 ¥ 20% ¥ oA ¥ o 592 = =3 ahw
Lu|

(A) 83 %@ (B) 120 %§

(C) 80 W i 5w

Which method of income measureme) ﬁ?@éﬁl’r construction sector im India ?
(A) Product methodzqa@ ... (mem method

(C) Income method (D) Product and Income method both
e ¥ Pt & F o & e & g @ Rt am ¥ & v B2
(A) wam fafa (B) = fafy

(C) o fafy (D) swre aur o fafy ==
Lacchiram initiated which style of Khyal tradition in Rajasthan ?

(A) Shekhawati Khyal (B) Jaipuri Khyal

(C) Kuchamani Khyal (D) Turra Kalangi Khyal

o™ ¥ wE T e T @ wadd Rear mar ¢

(A) frEEd ™ (B) =gl @

(C) Pl (D) T & e

37] wim 8 [PTO.
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25

26

27

The mean of a table is 20 and standard deviation is 5, then its coefficient of
variation is : :
(A) 20% B) 2%

(C) 25% (D) 5%
fopdy WOl @ wmm 20 ¥ ool wmg Rraw 5 ¥, o wEer wem e qoie g o
(A) 20% (B) 2%
(©) 25% (D) 5%

is a sequential list of questions which is used by the researcher himself
to collect the data from the field.

(A) Observation (B) Interview
(C) Questionnaire (D) Schedule
gt @ o g ¥ frew w@im egEuEeal I & § W e
W ¥ '
(A) SrEEET (B) W&t
(C) werrae (D) g
When mean of 3 group is 79 dh?;m‘%w is 64, C.V
(A) 23.43% (R) &1 .01%
(C) 10.12% :
W T W 79 W-;-ﬁm |
(A) 23.43% (B) 81.01%
(C©) 10.12% (D) 64.92%

The main aim of ‘DWCRA’ project was the development of
(A) women of urban areas

(B) women of rural areas

(C) women of rural and urban areas

(D) women and children of rural areas

‘DWCRA’ TioT %1 J&9 3evd &/ § 7

(A) v Afeenell & fawm & e

(B) uriior wigwnont & fam @ g

(C) &0 7 v Afitwmel & fwm o Ae

(D) ur wfewst @ we & fyew A oA

37] whm 9 [ P.T.O.
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28 Who is called the father of Rajasthan History ?
(A) G N. Sharma (B) Shyamal Das
(C) G H. Ojha (D) Col. Tod
TG gfoer & wwe 59 e W & 7
(A) w1, wa. qmf (B) sameE
(C) . wa. afEw (D) & ==

29 Out of the following precision in sampling is not dependent upon :

(A) Size of Sample (B) Method of Estimate
(C) Method of Sampling (D) Mean of Sample
witest arege® a1 agEyE ¥ gear Y ¥ feed v @ wear &7
(A) wftest e B) s fafy
\ Ty 2\
(C) wferamw fafer (D)) Zisi-sy
Education]Portal

30 As the period of moving average increases in time series, then
(A) Closer will be the trend curve to the original curve
(B) Farther will be the trend curve from the original curve
(C) Trend curve will coincide with the original curve
(D) The gap between the trend curve and original curve will remain constant
& I ¥ =w Arem @ orafy 99 wed W ¥, @
(A) wafa 9%, 90 a6 & Sa1 & s Tode B
(B) wgft =%, 99 % & Iaw & el g @
(C) wgfa @&, g =% ¥ THRd & wWRm
(D) wgfa &% T 9@ 9 & A & 0w Rew @

37] wu 10 [PT.O.
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34

Most of the time series relating to Economic and Business phenomenon uses the
(A) Multiplicative Model

(B) Additive Model

(C) Both Multiplicative and Additive Model

(D) Associative Model

AtiyT s Td SEEis w@ Al yge @l §

(A) e frest

(B) drw frest

(C) 7oes wd arg fraet d

(D) wewd wisw

Which famous saint of Rajasthan is associated with Katariyasar in Bikaner ?

(A) Haridas (B) Siddha Jasnath
(C) Jambhoji (D) Dariyavji

TSRO &% ®F § 9| §d Seel § saiaet § gdfm € 7
(A) wfema B frg wEeTY

(C) s .y ﬁIT ZhTasil

What is 'Annapurna Bh andg; ‘%E re?elcncc t Ea;asﬁam ?

"(A) Fair Price Shop Equal Price shop

(C) Grain storage (D) Free Food for BPL

TSR & §a¥ § ‘SFIgul WU o ¥ 7

(A) Sfod I &= (B) ¥ T d TEM ;
(C) &= W= (D) BPL 7wt & fou gwa @m0

The value of 2.3+2.3+2.3+2.3 is

(A) 0 (B) 9.2
(C) 126 (D) 1.26
23+23+23+23 W AA ¥ -

(A) 0 (B) 9.2
(C) 1.26 (D) 1.26

37] wfe 11 [PT.O.
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37

38

37] 12

Who was the Agent to Governor Gcnerai in Rajputana at the time of Revolt
of 1857 ?

(A) George Lawrence (B) Henry Lawrence
(C) Iltudus Thomas Prichard (D) Charles Metcalf
1857 @t Wifd &% ¥4 TN g TR SWR@ §T USYAET B 477
(A) o @i ' (B) ¥ Wi

(C) zvgew gmw frard (D) a9 Ao

The compound interest on a certain amount for 3 years at 10% per annum is
% 331, then simple interest on the same amount for the same time and at the same
rate will be

(A) T 200 (B) T 250

(C) T 300 (D) T 350

afy fedl Tt T 10% affe o & 3 ot & faw emwafs = T 331 @ @ od R
T FIF §HE % fMU 9T WM 3 W s S RN

(A) T 200 (B) T 250

(C) % 300 (D) T 350

Motilal Tejawat{was, prarfiteni lcader O thae

(A) Farmers Movemerlt @h&iﬂ%ﬁ%ﬁ@ﬂm Mmfs,ment

(C) Bhil Movement Ta ot (Rrar@feyyrovement
A ASEd waitie 9 S 9 W ¥

(A) Trum™ sriEeE (B) wgX arice
(C) W ordes - (D) BE EE

Sampling is the only option in the following situation :
(A) A life of a bulb

(B) Blood test of a person

(C) Knowledge of complete population
(D) To find the mean of population
gireas & Rk wr ate ¥, 3 Ry o
(A) s s & figh o

(B) & =f| & @1 @ wiw §

©) R T & Tyl wEsd §

(D) wwEen @ " frew &




39 Highest peak of Aravalli range is —
(A) Ser (B) Nag Pahar‘-
(C) Guru Shikhar (D) Achalgarh
IR B TeEH @& ¥ -
(A) = (B) 7 wEE

(C) TimEt (D) s=erTE

40 The correct measure of economic growth is
(A) persistent increase in real per capita income
(B) increase in gross domestic product at current prices
(C) increase in gross domestic product at constant prices
(D) increase in employment opportunity |
sty @ A & i
-V SiCC R e i I E Guication]Portal|
(B) @1 &M@l 9 mﬁ%ﬂwﬁﬁm ST
(C) R smal W Haa o 39k d e
(D) Temm e ¥ ghg

41 Which is not the correct cell reference ?

(A) R[-2]C (B) $DI17
(C) R5G7 _ ﬁD) $GS8
HE W AW (HCH T 7

(A) R[-2]C (B) $D17
(C) R5G7 (D) $GS$8

37] + 13 [P.TO.
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The product of 2% of a number and 5% of the same number is 152.1 then what
is one third of that number ?

(A) 120 (B) 130

(C) 360 (D) 390

e wem ¥ 2% o I wewn & 5% & PEww 152.1 ¥ 99 39 den w5 1w foey
T e

(A) 120 (B) 130

(©) 360 (D) 390

Which one of the following is not a characteristic of an ideal Average ?

(A) Easy (B) Rigid

(C) No bias (D) More time consuming
frafafea & & @ omest wem & @@ T ¥ 7

(A) & (B) R

(C) Frum \___’j_ﬁ) SRl §HE 9 A

'Kuvalaymala' is written biEdBemEEmD (ot
(A) Chandbardai T ST... HEFLBHHY susi

(€) Udyotan Suri (D) G. H. Ojha
FaaaAe fhas a faer ¥ 7

(A) w=aER (B) wform qft
(C) v git (D) it wa. sfEm

The replacement level of total fertility rate for India is

(A) 1.0 ‘B 23
(C) 2.5 D) 0
ad & fT F@ SEar W JIedRT ®O§
(A) 1.0 (B) 2.1
(C) 25 (D) 0

37] whm 14 [ PT.O.
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48

49

Which of the following district is awarded with e-Gov Rajasthan Award 2016-17 ?

(A) Nagaur (B) Ganganagar

(C) Jaipur (D) Ajmer

frr & 4 fFg A ® e-Gov Rajasthan Te@R 2016-17 fiem ¥ 7
(A) i . (B) TR

(C) smge (D) TR

What is the minimum number of series required to calculate partial correlation ?
(A) 1 B) 2
€) 3 D) 4
ATy TeEEy 1 AT W H MU =AW R w6 ATenel @ enavawar g ¥ 2

(A) 1 B) 2
© 3 ) 4
“wPa
Regional or Geozraphiic ata tnay! berbest-reprasenicd by
(A) Pictograms Education]Borta 3
(©) Gantt chans -~ T ST, TR, 3]
R @ dwifee el % e b R aifte Suge T ¥
(A) Fm-vw (B) wmtas
(C) = (D) =i f

Which cities of Rajasthan are famous for the art of ‘Koftgiri’ ?

(A) Bikaner and Jodhpur (B) Kota and Bundi

(C) Alwar and Jaipur (D) Jhalarapatan and Baran
TRy ¥ B & FW & g B8 el e ¥ 7

(A) ST Td SEgT (B) ®i@ wd =

(C) oreX T FagT (D) FENEEA TE AR

37) whu 15 [PT.O.
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52

33

Which feature automatically recalculate the whole worksheet if any change is made
in a single cell ?

(A) Formatting (B) Auto-calculation

(C) Auto-correct (D) Function

TH AW § B AT B U BN G BEl @@ 8 Q@ g% M ¥ gEIE &
1

(A) wreafET ‘ (B) aifer SegpasH

(C) &t (D) W

has 255.255.0.0 default subnet mask.
(A) Class B (B) Class A

(C) Class D (D) Class C
& 255.255.0.0 o d@EAe AR ¥

(A) Class B (B) Class A

(C) Class D e (D) Class C

Which of the following lakes ‘Mm is not a fresh and sweet water lake ?
(A) Kolayat (lake : (B, sChbapdetaal lake

(C) Panchpadra lake @m%ﬂl lake

P e F S T TS S

(A) ®EmEd o (B) Bt e

(C) wawew € (D) v@E

Which of the following combinations is NOT correct ?

(A) RUDA agency to promote urban non-farm sector in State

(B) RIICO an apex organisation for growth of industrialization in the state
(C) RAIJSICO agency to provide assistance to small scale industries in marketing
(D) RFC agency to provide financial assistance to indsutries upto T 20 crores

e & & a9 @1 = w8 T %7

(A) &= T el P &3 & @87 & T

(B) Tat T ® siErmator & e @ qaren ged

(C) T WY TH % T b faUue § ETaar WEE H gl geet
(D) s usd. TEr & T 20 &S 9% B 96y GEEar YaE 9 arel geel

37] e 16 [PT.O.




54 The National Income estimation in India is the responsibility of which of the
following ?

(A) NSSO ' (B) CSO

(C) Finance Ministry (D) National Income Committee

W W TS e w1 mwe, Ffr % 9 R frderd & 2

(A) T 7" Tg i (B) #iuw s

(©) e s (D) T ama whify b

35 Which folk instrument of Rajasthan is also known as the Jew’s Harp ?

(A) Khartaal _ (B) Morchang
(C) Ravan Hatha (D) Kamaicha
T & 56 1% amm & g e o wer wmEr &2
(A) wsaw (B) ®R =
(C) =z (12). wHrTer
A

56 Which of the followine movie_has- woll- best-pi ' in. Oscar-2018 2
" Educatlon e

(A) Read_v pla}-:!‘ one a a i_k_i_) E IH!@‘ EIHP'

(C) The shape of water (D) The Ritual
ﬁwﬁém&wﬁzmswaﬁww‘ﬁeﬁm’%ﬁﬁﬁm ?
(A) & wET o= (B) T Tme @y

(C) T 39 3% Frex (D) 7 frgam

57 What was the total road length in Rajasthan upto March 2017 °

(A) 2.26.853.86 km (B) 1,55,972.56 km
(C) 30,313.23 km (D) 1.76.481.99 km
wﬁ2017mwﬁa¢m‘fa&gﬁrm@ﬁmﬁeﬂ ?

(A) 2.26,853.86 fpsh (B) 1,55,972.56 fsty
(C) 30,313.23 et (D) 1,76,481.99 fiy

37] e 17 [PTO.
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60
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In 2011 the percentage of Rural population in Rajasthan was

(A) 70.2 Ry, 751
(C) 644 (D) 81.9 ‘
€ 2011 & Towaw ¥ IRRT SHEEN & iAo o1 - |
(A) 70.2 (B) 75.1 ;
(C) 644 (D) 819 |

In time series seasonal variation can occur within a period of

(A) one year (B) three years

(C) four years g (D) ten years - |
o doh ¥ e e B o B ot s @ wed E |
(A) s a9 (B) e f
(C) = o - (D) =& af |

According to Ecenomic Revi-cv%. the contribution of agriculture in Gross
State Domestic! Pfoddds -ofRajasthan  at @onstan 2014#12, prices in 2016-17 was

(A) 31 percent mm.::rcem }
(). 25 perentc - A ﬂ%‘ﬁbapyg}t |

e when 2017-18 % e 2016-17 ¥ o™ & 2011-12 @t Rt Bt T
gHd T WE, SARE ¥ F @ AREH o |

(A) 31 wfasa — (B) 43 wfas=
(C) 25 Wi g (D) 16 W@

Which soil are known by the names of usar, reh, alkaline etc ?

(A) Brown soil s (B) Red soil

(C) Salty/Saline soil '~ (D) Alluvial soil

2 @ T @ T Ye, oA onft & &9 & o W o ¥ 7
(A) b P& (B) ww fred

(€) v el (D) g fredr

37] wim S5 [PT.O.



62 The total number of children born or likely to be born to a woman in her lifetime,
if she were subject to the prevailing rate of age specific fertility in the population,
is known as -

(A) Birth Rate (B) Total Fertility Rate
(C) Reproduction Rate | (D) Maternal Reproduction Rate

T A & e ¥ dw ge @ o wnd A we @ ven, s 9w dher s :
ﬂrwﬁﬂmaﬁwﬁwﬁ«aa%aﬁw?ﬁr%,mﬁr%— - E
(A) 51 & (B) @ wdwar =x |
(C) & e T (D) 9@ U aT

63 Reserve Bank of India was established on

(A) 1% April, 1935 (B) 12 July, 1082

(C) 28 May, 1963 \-@Aﬂ May, 1930

Education|Portal
(A) 1% e, 1935 TS99 ot Ba@msndy
(C) 28 =2, 1963 (D) 1% =, 1930

64 The number of deaths under one year of age, per 1000 live births, occurring in
a given geographical area, during a given vear, is known as -

(A) Death Rate (B) Birth Rate
(C) Maternal Mortality Rate (D) Infant Mortality Rate

@ﬁﬁg%ﬁ%m%ﬂﬁ,wa&ﬁ,wﬁloooshfaavrﬁqafémeﬁﬁéqmaﬁm
W B oy ¥ WM Rrgelt @ wem @, med ¥

(A Jg = (B) w9 77

©) 79 59 (D) fary 9g =x

37] whe 19 [PTO.
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_____ and South Korea kicked off the annual military exercise 'Foal Eagle drill'.

(A) China . (B) USA
(C) India (D) Russia
T = B ¥ s & awm s e @ g e
(A) @ (B) ZTET
(C) wr@ (D) =&

Lakdawala formula is related to

(A) Poverty Line (B) Literary Rate

(C) Health and Nutrition (D) Human Development Report
ST GEE gt ¥

(A) Th& @ (B) w@mertan &T

(C) @Wrea @ 9w (D) e faem widaed
By default, teXt datalis alipbed @nianecl K

(A) left t

(C) center T AT ;(ﬁﬁusﬁ;!}ﬁ

W ¥ § YR T W Rwiee . oA w ¥

(A) w® (B) 82

(C) X (D) wEIBE

Who received the 'International Colonel James Tod Awards 2018 from Maharana
Mewar Cheritable Foundation, Udaipur ?

(A) Mr. Jadav Malai Payeng (B) Dr. Tessy Thomas

(C) Prof. John Stratton Hawley (D) Dr. E. Sreedharan

T dare SFCAW GERY, ST EW W o 2 w2018 Red s gen ?
(A) 4. wEE HemE 9 (B) =i & gmw

(C) W. w7 ®A TW (D) s g dHuw

37] whu 20 [P.T.O.
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69 If coefficient of correlation ' is positive between the two variables (x and y),
we may say that :

(A) Both the variables (x and ¥) moves in opposite direction
(B) If x variable increases, y also increases

(C) if x variable decreases, y also decreases

(D) Both (B) and (C)

M x AR y ¥ weww uiw oS ot a}wmm%ﬁs
(A) i x ox y faela fem & Rl 23 ¢

(B) 3T x 95 3, @ y oY woar ¥

(C) o x &7 &an &, & y ot &7 2w B

(D) =M (B) 7 (C)

70 Which of the following measures of money supply is known as 'Broad money' ?

(A) M, (B) M,

(C) M, (D) M,
ﬁwﬁf@fﬁ?ﬂ@fqﬁi&:mﬁr‘MWW% ?
(A) M, (BM-aD..:,

© ¥ ttioeren

71  Which district of Shekhawati Region do not have any river ?

(A) Jhunjhunu (B) Churu

(C) Sikar (D) Northern part of Nagaur
sﬁmﬁu&w%ﬁﬁﬁﬁﬁaﬁéﬁrﬁﬁﬂﬁ%? |
A) TH1 | B) e fi
(C) dm (D) MR & ITh | |

72 Bilateral monopoly means
(A) Two Sellers and two buyers (B) Two Sellers and Single buyer
(C) Single Seller and Single buyer (D) Single Seller and two buyers

faushe wwifter & awd
(A) = febear o @ (B) & fbar 9 ws e
(C) s vt 9 s Far (D) = v 3 @ #ar
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If the plotted points lic on a straight line parallel to the X-axis of a scatter diagram,
it shows :

(A) Perfect positive correlation (B) Perfect negative correlation
(C) Absence of correlation (D) Curvilinear correlation

ﬁ%ﬂaﬁ@mdﬁﬁﬂaﬁfﬁgeﬁw%&%%mﬁ%ﬁ%ﬁ%@w@m e
g ¥ | J

(A) T TS FEEE (B) T FoeE wewEd

(C) wEweY & (D) a% (@4 qeEEd

In a time series Regression Equation

y=a+bx; a is termed as

(A) y-intercept  (B) x-intercept
(C) Slope ‘5,;@ Trend
w P S o s A

y =a + bx . &l #gé ﬁﬁﬂaﬁm\y{ﬁ
(A) y-FrEQET | (B) x-SfardiEr
(C) o (D) wgfa

As a result of increase in the price of good X, whose demand is inelastic, the total
expenditure of the consumers of good X, will

(A) become zero (B) not change
(C) decrease (D) increase

mx,mmm%,ﬁmﬁﬁﬁm,mxamﬁw
Fu = -

(A) I &m (B) uftafia & &
(C) =&m (D) =W
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Which National week was celebrated during 23 April to 30t April 2018 ?
(A) 27 National Swacchata Abhiyan

(B) 29™ National Road Safety Week

(C) 26" National Fire Safety Week

(D) 20™ National Women Safety Week

23 o & 30 o, 2018 7% N W UL FA® T T 7

(A) 2M e wmear afme

(B) 294t v wrf geam @aw

(C) 26a1 sy o geen T

(D) 2091 T wfer gean @

The average of 40 numbers is zero. Out of these the maximum number of positive

numbers may be ‘__524_‘

(A) 39 EHPint ¢

©) 1 Educatiorn:|Portall

40 Hemslt @ o o R T - A e e 8w -
(A) 39 (B) 20

) 4 (D) o

Which of the following banks launched country's is 1%t integrated lifestyle and
banking digital service platform named YONO (You Only Need One) ?

(A) SBI - (B) IDBI
(C) PNB (D) BOB

ﬁwﬁﬁmaﬁ%%ﬂmwuwﬁaﬂ%ﬁa%ﬁmﬁm‘ﬁzﬁ#ﬁqm%
) gE fem & 7

(A) SBI (B) IDBI
(C) PNB (D) BOB

37] 23 [P.T.O.

Y

P



79

80

81

Which of the following is not a function of Directorate of Statistics and Economics,
Rajasthan ?

(A) Coordination of statistical activities of various departments

(B) Promote duplication in collection and corripilation of data

(C) Adopt accepted standards in collection of data

(D) Suggest ways to improve the quality of data
Wﬁﬂﬂw,aﬁﬁmqﬁﬂﬁmﬁﬁ%&m,mmmﬂﬁ% ?
(A) fuftry Rl & wifere Tiafafel § wEEE

(B) witwel % wwew wd wHew o fEpoe

(C) wiwel % dUew § W4 HAHI B I

(D) siwdl & e ¥ gUR & AW &

Fisher's index number does not satisfy

(A) unit test (B) time reversal test
(C) circular test (D) factor reversal test
Ry B GIEE GE T e PEA

(A) THR My L. osrEa Wi

(C) @b i :@gﬂﬁm@@m@ﬂ e

If there are 'm’ chances of occurring an event and 'n' chances of not occurring,
then the probability of occurrence of that event equal to

A 9

() m+n (B) m—n
n_ n

© men () m-n

u&%@tm%aﬁ%'ﬂ@%aﬁ#eﬁ%‘n’m% | & 3§ TI & dfed oW
# witear w1 B 7

A) — B) —
L S B) -n
o n _ n
©) wn D) m—n
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82 The value of Fisher Index Number is :

Price base year e e RS Sl

Quantity base year : 50 15 20 10 40

Price current year : 20 6 2 JiisaS

Quantity current year: 60 10 25 8 30

(A) 240 (B) 266.7 ‘ :
(C) 280 (D) 275

< PPIRLE - anEdiig

5 & quwis & a9 ¢

i e o 80 IEREREE S T
SR A B A 50 15 20 10 40
e W A dm 20 6 2 5 5.
yafd af S A : 60 10 25 8 30
(A) 240 (B). 266.7
(C) 280 o, >

83 In Rajasthan Atomic Power LLducationiRortal

(A) Rawat Bhata g9 aG-IB') Earsinghsar

(C) Jahajpur (D) Palaﬁa

T F O] Fot ko wef e &7

(A) EE W= (B) weRimae i
(C) wEmg (D) & E

84 The installed capacity of power in Rajasthan as on December 2017 was

(A) 10102.00 MW (B) 19536.77 MW
(C) 25325.11 MW (D) 50412.77 MW
T ¥ fegway, 2017 9% Fot @ afrere sar o

(A) 10102.00 FrEre (B) 19536.77 #marz
(C) 25325.11 e (D) 50412.77 Fmar
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Which areas of present Rajasthan were known as Jangal Desh during the
Mahabharat age ?

(A) Udaipur - Dungarpur (B) Bikaner - Jodhpur

(C) Banswara - Pratapgarh (D) Alwar - Bharatpur
WW%W%%WW*{W%&T%W@(M?@&?
(A) TR - TR (B) dHAT — WU

(C) wwawEl — WATTe (D) F@ET - WA

Seasonal variation Indice is equal to

(A) (General Average + Seasonal Average) x 100
(B) (General Average X Seasonal Average ) x 100
(C) (Seasonal Average + General Average) x 100
(D) ‘(Seasonal Average + General Average) * 100
i et gus ¥ qOET BT ¥

(A) (Wm+wﬁmmw x 100

(B) (@ #Arew < g

(C) (mgeiiem FIg, + FET ﬁrﬂ

(D) (wgetee =red & geg wed) X 100
il Education)

Singer Allahjillai Bai 0 BiﬁaI nelr' Wams ?O'I-Iaiu%xml'__ iaga :

(A) Basanti (B) Jaijaivanti

(C) Malhar (D) Maand

drerc B i st B T T % e owwe F 7

(A) =& (B) SorEt

(C) "=R (D) wwe

According to the Budget 2018-19, the estimated fiscal deficit for the financial year

2018-19 as a percentage of GSDP of Rajasthan is

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98

2018-19 % 5z % an fad a¥ 2018- 19 ¥ T F1 FEIE TSN € T H
Heow (o9 U AR & yhiem % w9 H ¥

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98
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89  The formula of Dorbish ang Bowley Index Number js -

91

A Xpa /'Y poao ®) X g /'Y prao

Zm()] [ me]
D —

© Y na0 /Y poao (D) {[quﬂ S5

RS g wmew @ e qa ¢

A Xra /Y pogo ®) X roar /'Y pigo
me] [me]

(©) ZPIQO /ZPO‘?O {[Zl’o% zpofin

Which River is known as 'Dead ‘1.‘1-&

(A) Mahi , (B)) Chagibal

(©) Luni Educatian|Porta 1

T T T SN S A 3T

(A) wdr (B) wew

(C) (D) &

Recently Government launches UTTAM App for the purpose to dea] with which
one of following ?

(A) " Soil quality monitoring (B) Women and child health care

(C) Coal quality monitoring (D) Pension cases
mé’rﬁmm‘mqv’ﬁﬁw#ﬁﬁmw&m%hﬁaﬁmwt ?
(A) fazdr o wig (B) =fwr 7 aw wmer vavam

©) @ # o wrg (D) v wpwr

37] wha 27 [PT.O.
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The algebraic sum of the deviations of all the individual scores in a series amounts
to zero, if the deviations are from :

(A) Mode (B) Median

(C) Arithmetic Mean (D) SD

s gEe & o qusEl & ¥ freew @ A dn g # T
(A) wFTH (B) wftmet

(C) WX ureA (D) "ww e

The method of collecting primary data is :
(A) Indirect Oral Investigation (B) Published Sources

: (C) International Publications (D) Publications of Business Houses

waftes wWel & @ & Ofg ¥ ¢
(A) was AfEs STIHEH (B) eIy @i
(C) ot wae (D) =auiis wensd & WS

If Jio invites_gpinion on its nc¥w=s = through questions on radio and newspaper
and people Whoaespend become apart ofsample. Svch saw pling technique is known

z Education|Portall
(A) Seli’-selecte%ﬁaain% G%Cinsu:rﬂ sampling
(C) Area sampling (D) Multistage sampling

wﬁﬁaﬁ#gﬁm%waﬁﬁ%waﬁﬁ%mmﬁamm
%Wﬁgﬂﬁ@ﬁ%ﬁﬁﬂ%%ﬁ@fﬁﬁ%ﬁ‘ﬁﬁﬁhgﬁﬁ%ﬁ%,ﬁwﬁaﬁ
&

= = W ¥ | O Presfw fafy & wm owed ¥ 7
(A) @d ﬁaﬁ%m fraet (B) §qe Frast
(C) #mww frasH (D) wgwia frsH=

In Plotting a graph, the independent variable is plotted on :

(A) Abscissa (B) Ordinate

<€) yvy (D) a-axis

Yar fm = fEw s & fg @ W @ w fafm s@ &
(A) go&E (B) =ife @&

© Yy (D) a-3&
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If two regression lines are as follows the value of ¥ is :

X =272+0.64Y
¥Y=-3040+126Y

(A) 40 (B) 20
© 5 D) 7
Al A g wwr frefifes ¥ @ X @ g @ .
X =272+0.64Y 1
Y =-30.40+126Y ?;
(A) 40 (B) 20
{(C) § (D) 7
Fraction representation of 0.18 is
‘ 18 18
(A) 9 _ : (B) 100
17 17
© 5 “®a
0.18 & Ry Frdam &L
18 l‘a’ﬁz@iﬁmllgmﬁfi]
s a9 as1b) FFA Y
A =kl n
(©) 99 : (D) % %

Which of following scheme is announced by Rajasthan Government for economically
Backward classes in budget 2018 ?

(A) Sundar Singh Bhandari Yojana (B) Smart Work Scheme
(C) Sabko Kaam Yojana (D) Swasthya Beema Yojana

ﬁwﬁﬁmﬁmwmﬁmﬁmﬁﬁmﬁ%mmzolsﬁ
wr oW ?

(A) g=Y Rz weerd g (B) @ ah &m
(C) ws® &m drerr (D) wrem €1 g

37) wha - 29 [P.T.O.



99 The given demand curve has '

2 :

Price
g

0 Quantity ’
(A) Infinite slope and zero elasticity
(B) Zero slope and infinite elasticity
(C) Zero slope and unit elasticity

(D) Zero slope and zero elasticity

ffu gu W@ 9 W

N
‘E P D wa
0 N E ducation]Portal!

(A) @@ = ad wE g ¥

(B) o g T Wa o &
(©) msﬁxamahasm‘aaw%
(D) @@ @ g1 @a I

100 Time series does not relates to

(A) Seasonal variations (B) Secular trends
(C) Cross Sectional variations (D) Cyclical variations
& S faga fred gwtm T ¥

(A) @ (B) drfmmm faaT™
(C) agwed faaxw (D) wwE faETm
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